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1. Divide by using an area model. Then check your work.

168 ÷ 12

Check:

168 =  × 12

2. Divide. Then check your work.

414 ÷ 18

481 1 4

Check:

414 =  × 18

Use the Read–Draw–Write process to solve the problem.

3. Adesh is making necklaces. He has 336 beads. He must use 28 beads to make each necklace.  
How many necklaces can Adesh make?

EUREKA MATH2� 5  ▸  M1  ▸  TC  ▸  Lesson 15



96 P R AC T I C E

5  ▸  M1  ▸  TC  ▸  Lesson 15� EUREKA MATH2

REMEMBER

Use the Read–Draw–Write process to solve the problem. Write the solution statement by using 
a decimal number.

4. Noah puts 3.57 grams of blueberries in his oatmeal. He feeds his bird 1.3 grams of blueberries.  
How many grams of blueberries does Noah use altogether?
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